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---------- GUEST LGN cmmmmeme—e

Simplifier: ((1 + V5)/2)12

((1 + v5)/2)"12

= (1 + V5)7~12 / 2712

————— traitement du numérateur (1 + V5)712 -----
(1 + V5)~12

= ((1 + v5)73)™M

rappel: (a + b)® = a3 + 3a2b + 3ab? + b3
= (1 + 3V5 + 15 + 5V5)*4

= (16 + 8V5)"4

= (8-(2 + V5))™4

= ((8-(2 + V5))"2)"2

= (64-(4 + 4V5 + 5))"2

= (64-(9 + 4J5))"2
T = S

4

= 6472:(81 + 72V5 + 80)
= 6472:(161 + 72V5)
————— traitement du dénominateur 27212 -----

2712

(276)"2

642



----- toute 1'expression (1 + Vv5)712 / 2712

(1 + V5)~12 / 2712

6472 (161 + 72V5) / 6472

I

161 + 72V5

((1 + V5)/2)712 = 161 + 72V5

sans calculatrice




